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3000 (= 1,570,000 & 3,600 2 0]
2 HoH 2| 10,631,000 10,471,000 160,000  [Al 9,057,400 X 0 0]
3400 (= 1,570,000 & 3.600 0]
nEe2lt] 10,631,000 10,471,000 160,000  [Al 9,057,400 X 0 0]
3410 (= 1,570,000 & 3,600 2 0]
nER2 10,631,000 10,471,000 160,000  [Al 9,057,400 X 0 0]
3415
Faimwel 5,283,080 5,123,080 160,000
200
AFEL0f & 1,113,038 1,586,971  ~473,933
220
XHA At 1,113,038 1,586,971  £473,933
401
Al 2 s 1,113,038 1,586,971  ~473,933
Chbl
1,113,038 1,586,971  ~473.933/01 Al&H]
CECOAZY QST (EUHRET)
- A mok 473,933,008 =  A473,933
400
obIHI S 4,004,238 3,460,305 633,933
410
o1 | 4,068,936 3,440,305 628,631
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801
ollgltl 4,068,936 3,440,305 628,631 o==Xt& 22| 0idlbl
2 & (4,068,936,000% )-71& (3,440,305,000& ) = 628,631
420
JIEt 25,302 20,000 5,302
802
grt=JIE 25,302 20,000 5,302
3,787 0 3,787|101 = EX3BE=
©2003 HASZE HEUH=SF 3,786,350& = 3,787
1,515 0 1,5615/02 Al - EHIE X SEtet S
<2003 HASHE HS U=+ 1,514,5408 = 1,515
3416 [= 1,570,000 &= 3,600 & 0]
JIEt D S AL 5,347,920 5,347,920 0 [Al 3,774,320 XH 0 u 0]
400
oiblel S 23,555 23,555 0
410
ol bl 14 23,555 A23,541
801
ollgltl 14 23,555 A23,541 | =Bt SAE Ol bl
23 (14,000 )-21H (23,555,000 ) = A23,541
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420
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802
ohel 20| 6 23,541 0 23,541
20,641 0 2064101 2D EZVHE
©2003 C{2I0IEE R HH|AMY 13,300, 1908 = 13,301
©2008 DEAE BHELH=T 7,250,008 = 7,250
2,900 0 2,900/02 Al - SHIBE28rE2
©2008 DEAE BHELH=T 2,900,008 = 2,900
N s g 10,631,000 10,471,000 160,000
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